ACCOUNTANCY
IGECIE T

( Principles and Practice of Financial Accounting )

( Foxfrar iR o fargrea ud =g )

(320)
Time : 3 Hours | [ Maximum Marks : 100
qm ;3 UL | [ qUifes : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to
attempt questions from one option only.

fder: () 39 9H-T9 & ©ue —ave ¥ ud wve |
(i) @Ue ‘3 % |t UF B TA BT L
(il) @Wve T ° uH U Al faepen g1 wlenfan =l Faat ueh oo & & 99l & W A 2|

SECTION-A
Qus-3H
1. Name any two methods of preparing Trial Balance. 1
e M 6l foheel &t farfert & A i |
2. State the meaning of ‘Partnership Deed’. 1

‘grEgert gor@’ 1 31Y aqrgu|

3. Differentiate between Public Company’ and ‘Private Company’ on the basis of
‘Transfer of Shares’. 1

‘grasiten wral’ R st srot’ B “7e o gEdT=aer o SR 9T 3Tl Sd1Ey |
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4. Name the types of cash voucher stating the nature of transaction that is
recorded in each one. 2

TS THI o TRl o AW N I8 3@ Fd gC o T® H fohE TR % el H
arfirerEs T Smar 1

5. What is meant by ‘Errors of Omission’ Give an example of such error. 2

‘T AYfEA ¥ o U 27 39 YR Y 3G H Uk IaTel0 i |

6. State the meaning and purpose of ‘Central Processing Unit’ as a component
of computer. 2

FHFR ok Th °h o U H had YR e Rl A AT IR IGeh! AN 1 3Ig@
Fifs

7. What is meant by ‘Capital Expenditure’? Give any two examples of it. 2

efira = & @ A 27 39 I |t 3 i

8. Give the meaning of (a) Grant-in-Aid, and (b) Entrance Fees. 2

(%) "erEdd 3TIEE TF (@) YA Yook H1 1Y Farey |

9. A, B and C are partners sharing profits in the ratio of 3: 2 : 1. On 1st April
2010, B retires. His share is taken over by A and C in equal proportion. Profit of
the firm for the year ending on 31st March, 2011 was Rs 60,000. Calculate the
new profit-sharing ratio and the amount of profit to be credited to A and C. 2

A, B3R C OTEER 2 3R @19 1 dfea®1 3 : 2 : 1 % A9 § &d 21 1 31, 2010 = B
J TR T2 R = B % AW ® A HR C | GHH U § AR R 31 7,
2011 ! GHH B dTcl 9 § %H & @19 60,000 Fo oT| AT W FTIIME a0 A IR C &
ST 941 § forg ST At @ i st < oEn fifsm)
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10. What is meant by ‘Cash Basis of Accounting’? Give any two advantages of it.

Uehe MLTRA SaieR &l & 319 27 39 FIE | a1 JarEu|

11. Journalise the following transactions :
(i) Purchased furniture for cash—Rs 4,500

(ii) Payment received from Chandni by cheque—Rs 8,350. Allowed her a
discount of Rs 150

(iii) Charge depreciation @ 10% p.a. on machinery of Rs 20,000 for 6 months
Frfefaa cmeat i TsHm=n % gfafsar fifsm -

(i) ThTaR T TG HF fI—4,500 o

(i) =feh | = g YTaE TTH §3T—8,350 %o | IHeh! 150 Fo ht T2 & T3

(iii) 20,000 %o T T W 10% a1k il T A 6 AL HT AGLTI MY

12. Prepare a Bank Column Cash Book from the following particulars :

Date Details Amount
2011 Rs

July 1 Cash in hand 2,400

Cash at bank 4.250

» 5 Cash sales 16,500

» 8 Cash deposited in the bank 14,000

» 18 Received cheque from Sameer and
paid into bank on the same day 23,600

» 24 Paid to Anubhav by cheque 17,500
» 30 Withdrew cash from bank for
personal use 8,000
Frferfaa foeon @ s wefia Tehg =€ SR
fafer fereror afsr
2011 Fo
SEIE 1 e Ug 2,400
3% § g 4,250
» 5 g forsht 16,500
» 8 o o Ushg w1 A 14,000
» 18 R § =% W g7 9 36l A o
T ST R T T 23,600
» 24  ITINE HI FH FR PIAE foRT 17,500
» 30 fisft 3w 7g S @ i frewrett 8,000

32920 /ASS/512A 4



13. Bank Reconciliation Statement is prepared to reconcile the difference between
the balances as per the bank column of the Cash Book and Pass Book on any
date. Enlist any four reasons of the difference. 4

Sop Tt foraor fordt off ek fafdr w6t Uere o€l o S TR SR ST T AW IR U qF

Y o A= FE h GHIUH o {IC ST T 2| TH AR o fheal AR HRUN bl GIEE
e |

14. Make Journal Entries to rectify the following errors : 4
(i) Sale of Rs 12,000 to Radhika was wrongly recorded in Purchases Book

(i) Rs 32,000 paid for the construction of two rooms of office was debited to
Repairs Account

(i) Purchases Book is undercast by Rs 1,000

1 crame eigfaal o wge i AsHm=n fafsar A -
(i) TR & 12,000 Fo o foasha &1 o Terdt | % gEas § o e mn

(i) FETTT % q FE b O F U 32,000 Fo 1 JraE foram T R wwwa @ ®
T ¥ fora fem mn

(iii) ST & HT A 1,000 Fo FHH AT TT

15. Quality Life (Regd.), an NGO, is working for the welfare of people in villages.
One of the main sources of its revenue is subscription, the details of which are
given below :

Rs

Subscription received during 2011 68,000
Subscription outstanding on 01.01.2011 2,200
Subscription received in advance

in 2010 for 2011 8,000
Subscription outstanding as on 31.12.2011 2,500
Subscription received in advance

in 2011 for 2012 1,600

Calculate the amount of subscription to be credited to Income and Expenditure
Account’ of this NGO for the year 2011. 4
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Tk T-GLhI 934 (NGO), Hileiie A% (TSiichd), Al § AN o o0l o ol
T 2| Heh! 3T HT U A Eid wal 8, Foraent faawor Fi= femn e 2

%o
2011 ¥ UTH =eT 68,000
01.01.2011 =l 784 =eT 2,200
2010 ® 2011 & fou =1fim uw == 8,000
31.12.2011 ! 378 =al 2,500
2011 W 2012 & foTu 1fim wmw =ier 1,600

9 2011 & ‘TF-=TF @A’ & W1 97 § fordl S ol 39 wo Sfto 2Tt it =ie i uftt i
ot i)

16. X, Y and Z are partners in a firm sharing profits in the ratio of 2:2: 1. On
1st June 2011, X dies. Accounts are closed on 31st March every year. On 31st
March 2011, X’s Capital Balance was Rs 75,000 and General Reserve was
Rs 4,500. On that date goodwill of the firm was valued at Rs 25,000. On the
date of death, his share of profit is calculated on the basis of average profits of
last three years which amounted to Rs 40,000. Interest on capital is allowed
@ 9% p.a. X’s drawings for two months are Rs 8,000.

Prepare Capital Account of X to be rendered to his executors.

X, YR Z & %1 H HEER € IR e a1 2 : 2 : 1 % 370 § dfed g1 1 4, 2011 &
X g7 B TE| WId Ufd a9 31 W ol 98 ol S 21 31 W, 2011 S X R Ui o
75,000 o o TAT AHIT T 4,500 %o 1| g fafsr =t wH it @nfd 1 4o 25,000 %o
3ATRT TAT| 3G Gog ol ARIE §, 36k Te¥d o @1 i 0T fUsel @1 aui o 3f|d @9 &
YR W & T2 ST 6 40,000 Fo | ISt W 9% ATh & § <A T ST o1 X 61 &
TR T AT TET 8,000 %o off|

X o STUTRINT &l 34 o folt X 1 YSf @rar aAmEu |

17. What is meant by ‘Shares Issued at Premium’? State any three purposes for
which premium amount can be utilised.

‘STET o e W R | R A g7 SAfemed R Ui 1 3w foR 3ewEl o T
foran ST weRa €, Toreel 1 w1 SgE v
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18. Prepare accounting equation on the basis of the following transactions :

Rs
() Amogh started business with cash 80,000
(ii) Paid into bank 60,000
(iii) Purchased goods from Ashok on credit 35,000
(iv) Purchased goods and paid by cheque 45,000
(v) Paid commission 2,500

(vi) Goods sold costing Rs 32,000 and payment received

by cheque 35,000
(vii) Paid to Ashok by cheque in full settlement 34,500
(viii) Drawings for the month 4,500

Frfafaa st @ g wHis R fifsw - %o
(i) I 3 Thg W IR I foran 80,000
(ii) S T ST FA 60,000
(iti) 3T ¥ IUT AT BT 35,000
(iv) WA GET 3R =% R PTaE for 45,000
(v) FHHEE F P TR 2,500
(vi) 32,000 %o hT ANTA o WA 1 Torga FoRam qom T =ik g0 o 35,000
(vii) 3T 1 = T TaH R Teare gehan foman 34,500
(viii) FER AT AT 4,500

19. Maya Finance and Investment Co. Ltd. offered to public for subscription of

50000 shares of Rs 10 each at a premium of Rs 2 per share. The amount
payable on these shares was as follows :

Rs 2 per share on application

Rs 6 per share (including premium) on allotment

Balance on call
Applications were received for 80000 shares. Shares were allotted on pro rata
basis to all the applicants. Excess application money was adjusted towards
sum due on allotment. All money was duly received except allotment and call

money on 600 shares held by Nirmal who did not pay allotment and call money.
Her shares were forfeited.

Make necessary Journal Entries of the above transactions in the books of the
company.
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20.

HET HIEH-E TUE Sa&HE o fofo 4 10 %o It 50000 AT hl 2 Fo Ufd A HiiHEH W
ST 1 HWEH =g Tt [l | 37 3791 98 ART 1 a7+ TR 8§ 1 o

2 %o Tl I A W

6 %o Ufd 3191 (Shiftrm dfgd) smmeed W

Y AT T
80000 31 % feTq S1rded WTH BU| Wft STE! =l TR0 ol ST AR SR T A
feam | eraes W e sifafes Tfst @ emmeed W qfvt § wHenfea e wn ) adft ufy

g W g2 | haa e % 600 ST W ITEeA TF AT TR W TS g2 36h ST
e o foran T

T TG hl I Sl TaT JEaehl § ATaweh s Sfafsat shifsm |

On 1st April 2008, Incredible India Ltd. has issued 1000, 10% Debentures of
Rs 1,000 each at a discount of 10% for a period of 4 years. The Debentures are
to be redeemed in four equal annual instalments. Company decides to write off
Debenture discount each year in proportion to the amount of Debenture
redeemed.

Calculate the amount of ‘Discount on Issue of Debentures’ to be written off
each year and prepare ‘Discount on Issue of Debentures Account’ for
2008-2009 and 2009-2010. Accounts are closed every year on 31st March.

geohisae 3fugar fefo 3 1 31w, 2008 & 1000, 10% 9 1,000 Fo Ifd =09, 10%
F T W 4 T4 6t Iaf & AU I foRd | o R wieE SR gme iy i o freat O
BT o7 | T 3§ 0T ok w2 Al T B afdad ForEt i e et F egerd § sfafed
0 = fAulg feram)

‘FoE & e W s’ i gfded stufdfag B S arelt afsr i moEn Fifse qen ad
2008-2009 3R 2009-2010 1 Ford T si2er Wi S| @Td Yfqas 31 A &
o 5 sma )
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21. From the following Trial Balance and additional information of M/s S. K. &
Sons, prepare Trading and Profit & Loss Account for the year ended on
31st March, 2011 and the Balance Sheet as on that date : 10

Trial Balance as on 31st March, 2011

Particulars Dr. Balances | Cr. Balances
Rs Rs

Capital 1,00,000
Plant and Machinery 40,000
Sundry Debtors 24,000
Sundry Creditors 12,000
Drawings 10,000
Purchases and Sales 1,05,000 1,64,000
Wages 50,000
Bank 10,000
Repairs 500
Stock (01.04.2010) 20,000
Bad Debts Reserve 1,200
Rent and Insurance 4,000
Manufacturing Expenses 8,000
Trade Expenses 5,700
Bad Debts 2,000
Carriage Outward 1,500
Bills Payable 5,000
Advertisement 1,500

2,82,200 2,82,200

Additional Information :

(i) The closing stock was valued at Rs 14,500

(ii) Provide depreciation Rs 4,000 on plant and machinery

(iii) Make a provision for bad and doubtful debts @ 5% on debtors

(iv) Prepaid insurance was Rs 1,000

32920 /ASS/512A o IPTO



Ho WHo o TUE TH o 4 e UF 3Ifdfh T=A1 @ 31 W€, 2011 &I THME B ot a9

& fou =R e erg-gr @ qen 3E fafer s feufa feeor sy

31 A7, 2011 I dI92

faraor 9 I ST 99
Fo Fo
bl 1,00,000
I3 ud A 40,000
fofir Tem 24,000
fafim e er 12,000
ATET 10,000
PRRCRCCD! 1,05,000 1,64,000
gt 50,000
EED 10,000
T = 500
W% (01.04.2010) 20,000
IT 0T G 1,200
foran wa i 4,000
fafmtor == 8,000
R = 5,700
T 0T 2,000
EIDRIE 1,500
7 o= 5,000
ICRICE] 1,500
2,82,200 2,82,200
3#%35@??:

(i) AW i 1 ged 14,500 Fo 3ATehT T

(i) EI TE HI W 4,000 %o T LAV T &
(iii) <TERI W 5% h @ U UT T TG FI7 o TI¢ Y& FAT &

(iv) AW | At 1,000 Fo o

32920/ASS/512A
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OR / 3gdt

From the following TReceipts and Payments Account’ and with the given
additional information of Grameen Sports Club, prepare ‘Income and
Expenditure Account’ for the year ended on 30th June, 2011 and the Balance
Sheet as on that date : 10

Receipts & Payments A/c
for the year ended on 30th June, 2011

Dr. Cr.
Receipts Amount Payments Amount
Rs Rs

To Cash in hand 8,000 | By Purchase of sports material | 22,000

» Subscription 20,000 | » Salary of coaches 5,000

» Sale of old bats, balls, etc. 1,500 | » Match expenses 18,000

» Donations 18,000 | » Rent 4,800

» Government grant 24,000 | » Furniture 6,500

» Sales of tickets 17,000 | » Miscellaneous expenses 4,200
» Fixed deposit

(01.01.2011 @ 9% p.a.) 20,000

» Cash in hand 8,000

88,500 88,500

Additional Information :

(i) Subscription outstanding as on 1st July, 2010 was Rs 2,000 and on 30th
June, 2011 was Rs 3,200

(i) On 30th June, 2011 salary outstanding was Rs 2,000

(i) On 1st July, 2010 the value of furniture was Rs 3,500 and stock of sports
material was Rs 4,000

(iv) Stock of sports material at the end of the year was Rs 2,000

32920 /ASS/512A 11 IPTO



UTHIOT TqIE Fefsl o UIH T YdE @il U 6 g AN g9 9 30 S, 2011 i

guTd B 9Tl 99 o fotu ‘str-=q e qen gt fafy @ feafa faawor’ seme -

9T T YA @it
¥ gHIfd 30 5, 2011
—H STHT
iRt afr YA afr
%o %o

TEEY Uhe 8,000 | @ & UM T I 22,000
EH| 20,000 | =hT=il = oad 5,000
T ag, e e 1 fosa 1,500 | 89 & @9 18,000
HERUN 18,000 | e 4,800
FTHR 3TEH 24,000 | %= 6,500
foerat 1 forht 17,000 | fafaa == 4,200

grEfy s (01.01.2011 1
9% afieh i & W) 20,000
TEEY UhS 8,000
88,500 88,500

Alafes = -

(i) 1 eTE, 2010 @ 3T&d =& 2,000 Fo 3T 30 5, 2011 &l 3,200 Fo o

(i) 30 S, 2011 = 31&7 Ia4 2,000 Fo o

(iii) 1 Jes, 2010 1 G’ F1 Ged 3,500 Fo AUl WA % UHH % Wik H YA

4,000 %o o1

(iv) a9 % T § W % GHH % Wi P T 2,000 Fo o

32920/ASS/512A
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22. The following was the Balance Sheet of Maya and Nirmal who shared profits

and losses in the ratio of 3: 2 as on 1st January, 2011 :

Balance Sheet of Maya and Nirmal
as on 1st January, 2011

Liabilities Amount Assets Amount
Rs Rs

Creditors 35,000 | Cash 12,000

General Reserve 15,000 | Sundry Debtors 62,000
Capita]s : Less : Provision

Maya 60,000 for Bad Debts 2,000 60,000

Nirmal 40,000 | 1,00,000 |Stock 22,000

Furniture 6,000

Building 50,000

1,50,000 1,50,000

They agreed to admit Salma into partnership on the above date on the

following terms :

(i) Salma will pay Rs 10,000 as her share of goodwill and Rs 30,000 as

capital for % share of profits in business

(ii) Building was to be valued at Rs 65,000 and furniture was to be

depreciated by 5%

(iij) Provision for bad debts was to be reduced to Rs 1,500

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance

Sheet of the new firm.

32920 /ASS/512A
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1 SHel, 2011 Rl 7T AR HHA, ST Toh TW-81H 3 : 2 o 379d § siedt off, =1 ferid
Toreor 1 o

o O AT @7 et e
1 SR, 2011 &I
AT afsr qrEgfaar afsr
%o %o
TIER 35,000 | e 12,000
T T= 15,000 | fafie aer 62,000
St T : 3TIT FIN oh
R 60,000 foru graem 2,000 60,000
ot 40,000 1,00,000 | ¥ 22,000
LTy 6,000
RES] 50,000
1,50,000 1,50,000

39 fafsr 1 o Termn st e wat | yaw o % fo wewa 2§

(i) w0 fewd 6 EAfd % fT 10,000 %o Gl @M % @1 H L W % o e
1 4Sf % ®9 H 30,000 Fo I TAH Lt

(i) 9 1 G 65,000 Fo T TRAT T qAT HrTeR T 5% oh1 STT&I0T T ST

(iii) 3TITH M % T Yrae™ B ger 1,500 %o R St

AR @A, |TSER] o Ysil @Td q91 95 BH 1 fefd foeror aamsu|
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OR / 3gdt

X and Y are partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as
on 31st March, 2011 was as follows :

Balance Sheet of X and Y
as on 31st March, 2011

Liabilities Amount Assets Amount
Rs Rs
Creditors 28,000 | Cash in Hand 10,500
Bills Payable 10,000 | Cash at Bank 20,000
Profit & Loss Account 12,000 | Stock 17,500
Capitals : Sundry Debtors 21,500
X 40,000 Less : Provision
Y 20,000 60,000 | for Bad and
- Doubtful Debts 500 21,000
Land and Building 41,000
1,10,000 1,10,000

The firm was dissolved on 31st March, 2011.

(i) The assets were realised as under :

Debtors at a discount of 5%
Stock at Rs 16,000
Building at Rs 52,000

(ii) Creditors and Bills Payable are paid at a discount of 5%

(i) Realisation expenses amounted to Rs 1,500

Prepare Realisation Account, Bank Account and Capital Accounts of X andY. 10

32920 /ASS/512A 15 IPTO



X 3 Y 96 & S ¥l Sl [a9SH 3 : 2 o 39 H Rd & 31 "=, 2011 sl 31
feurfa foamo e v 2

X a9r 'Y &7 fedfa faeror
31 47, 2011 Ht
%o %o
TER 28,000 | & Uhg 10,500
o7 faum 10,000 | &% # U 20,000
Y Ud g @t 12,000 | €% 17,500
ISt i Ter 21,500
X 40,000 52T : 9T TS
Y 20,000 60,000 g won &
LERICRIE] 500 21,000
CICRCRCE| 41,000
1,10,000 1,10,000

31 A, 2011 1 %H ol faeed w2 fear mm)

() TR @ e i e
TERT A 5% T T IR
W% ¥ 16,000 %o
9T ¥ 52,000 %o

(i) TFERI 3R ¥ fauEt 1 T 5% w2 W R T
(iii) S =T H ART 1,500 Fo off

T WA, S @Al a1 X 3R Y % Yt @1 S50
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SECTION-B
Tug-a
OPTION-I
forehed-1

( Analysis of Financial Statements )

( Torfta feraont st forgerson )

23. What is meant by ‘Analysis of Financial Statements™ 1
Torcftar foraoni o foreroor’ =1 @ 379f &7
24. Why are the following parties interested in the analysis of financial statements? 2

(a) Investors (b) Management
et wer forfta foaeont & fowawor @ ==t = waa 27
(%) Tewmral (@) dereH

25. From the following information, calculate ‘Working Capital Turnover Ratio’ : 2

Cost of Sales—Rs 1,50,000
Current Assets—Rs 60,000
Current Liabilities—Rs 30,000

Frefafad ge @ wrieia OSfi etmad stgura’ st o Hife
fasra @mTd—1,50,000 %o
9] FHREI—60,000 %o
9] 3FA—30,000 %o
26. If Debt-Equity Ratio of a company is 2-5 : 1, state whether the following items
will increase or decrease or have no effect on the ratio : 4
(a) Cash paid to Creditors
(b) Conversion of Debentures into Shares of equal amount
(c) Issue of Debentures for Cash
(d) Redemption of Debentures
Ife U HEOA H FO-TEAT A 2-5 : 1 7, @ Fare ok = @ € wel & ogua 9 gfy
BTit Store sl Nt S19eT W O S T TR g
(%) THERI I kg JTAH
(@) FOTET T GEE qod o A H qHEH
(1) RIS T Tehe FTE
(|) RO R M
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27. From the following Balance Sheets of Vikram Motors Ltd., as on 31.03.2010

and 31.03.2011, prepare Cash-flow Statement : 6
Balance Sheets of Vikram Motors Ltd.
as on 31.03.2010 and 31.03.2011
Liabilities 31.03.2010|31.03.2011 Assets 31.03.2010|31.03.2011
Rs Rs Rs Rs
Equity Share Land & Building 3,60,000 | 3,70,000
Capital 4,00,000 | 5,00,000 | Plant & Machinery | 3,50,000 | 4,35,000
10% Debentures 2,00,000 | 1,00,000 | Stock 80,000 60,000
Profit & Loss A/c | 2,50,000 | 3,60,000 | Debtors 70,000 85,000
Creditors 75,000 60,000 Bank 45,000 60,000
Preliminary
Expenses 20,000 10,000
9,25,000 |10,20,000 9,25,000 |10,20,000
Additional Information :
During the year, depreciation on Building was Rs 15,000 and on
Machinery was Rs 50,000.
forspm med f7o & 31.03.2010 d91 31.03.2011 & f=faRaa feufa foawon @ Uove yame
oo SR
fassm iz foro % fedrfa foaaor
31.03.2010 @97 31.03.2011 &l
oo 31.03.2010|31.03.2011 grafaar 31.03.2010|31.03.2011
%o %o %o %o
AT 37 S 4,00,000 | 5,00,000 | ¥ff g o= 3,60,000 | 3,70,000
10% 19 2,00,000 | 1,00,000 |€a% wg wefi=d 3,50,000 | 4,35,000
Y- @At 2,50,000 | 3,60,000 | %is 80,000 60,000
AR 75,000 60,000 | ¥qer 70,000 85,000
= 45,000 60,000
e 20,000 10,000
9,25,000 |10,20,000 9,25,000 |10,20,000

99 § a4 W 15,000 Fo 3 GIF T A W 50,000 Fo ohT STG&THIT AT 47|

32920/ASS/512A
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23.

24.

25.

26.

State the meaning of ‘Cost Accounting’.

OPTION-II
IEET M|

( Elementary Cost Accounting )
( IRt EmTa AT )

“ANTa iR Rt 31 TqrEu)

Explain the term ‘Fixed Cost’ by giving an example.

T IETE0T <o TRl AT’ e <t ST i |

Differentiate between ‘Cost Accounting’ and ‘Financial Accounting’ on the

basis of (a) Objective, and (b) Nature.

AT oRaTeRA 3R Tt iaie O () 23T a0 (W) Thid o STMUR W TR T3 |

A cost accountant has suggested you to use First-In-First-Out (FIFO) method of
pricing for the issue of raw materials because a good system of stock
management requires that the oldest units are issued first and stock consists of

the latest purchases.

Acting on his suggestion, show how the following will be recorded in the ‘Stores

Ledger’ during the month of June, 2011 :

2011

June 1
» 8
» 10
» 18
» 24

32920/ASS/512A

Opening balance 400 units @ Rs 25 per unit
Purchase vide Order No. 15, 250 units @ Rs 24 per unit
Issue vide MR No. 22, 350 units

Issue vide MR No. 25, 250 units

Purchase vide Order No. 21, 200 units @ Rs 27 per unit
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T AN @R o

ARl el HIA o FHA Jod ol MYid o sl g8l - AH1-T8d -

M1 (FIFO) Ugfd &l 30AH il |ale &t 8 Fifh THh =3 Wi Yawed Ugid & fore
Tg AEF 2 fF ge® dEdl U TR I Ugel feifia R ST qenm wiE # e s

36k 3 GIE T A Hd gC qWEC 6 5, 2011 % 7EE # f= o0 W war 98§

TuE B
AfirerEs 8 foa o -
2011
SH 1
» 8

10
18
24

AREF AT 400 TH1AT 25 Fo T 1S 6l T H

&I MY Ho 15, 250 THIFAT 24 Fo Uid IHE il X A
Frfmm erfenrew @o 22, 350 gewmEAl

frtaa srfemrem |o 25, 250 gwTEAT

A 3TME Ho 21, 200 FHEAT 27 Fo Tfd 3HE I T I

27. From the following information, prepare Cost Sheet for the period ended on

31st March, 2011 :

Material Consumed—Rs 1,80,000

Direct Wages—Rs 64,000

Direct Expenses—Rs 16,000

Factory Overheads—100% of Direct Wages

Office and Administrative Overheads—20% of Works Cost
Selling and Distribution Overheads—Rs 32,000

Cost of Opening Stock of Finished Goods—Rs 18,000
Cost of Closing Stock of Finished Goods—Rs 22,000
Profit on Cost—25%

FrefcIfiea =1 @ 31 W=, 2011 %1 GHH a9 & T AwTa foeor sH1ET

3T Y T FmIfi—1,80,000 %o

I8l #S1gli—64,000 %o

T8 =F9—16,000 Fo

FHREHT ITHI—IcTe Hgll 1 100%
FHEITAT T T IUNET—FE ATTd 1 20%
o e T suftes@—32,000 %o

TR AT o ITRIEHF ik il ANTd—18,000 Fo
TIR AT & 3| e it Ama—=22,000 %o
AN W A—25%

32920/ASS/512A
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